
311R'> i4 I cfi .. "�.....,... •. ,. •• .,, ...••.••• 

':f('q' •,c,•••·, .. • .. ""··r ....... -., •• , •••• ,.,,,,,-•• 

152 347(CB) 
2023 

{flll�-1 �R 
, .  'J.!111cf> : 70 

Note : First 15 minutes arc alloltcd for the candida�cs Lo read the question 
paper. 

� : i) � >IVol 3if-1c41<1 � I � � c)) RetTmi 3lq1 ffl "{:fq'!ff � � � I 

. ii) l1UHl,4cf, � .ll TJURT c)) "Wl'«1 'Cl'G � I 
iii) � if> si1fifi1cf, "3m f�f@Q 1 
iv) � 3lfel�l4c:f; °ITT, {mlllf-,q; titflefi{UI � I 

Instruction : 
i) All questions are compulsory. Marks allotted to each question a�e 

given in the margin. 
ii} I� numerical questions, give all the steps of calculation. 
iii) Give relevant answers to the questions. 
iv) Give chen:iical equations wherever necessary. 

1. m � c)) � "&Us 1l � fqcf,{v(l � Tf{t � I mT fqcfic,q 'i'flcf,< � 3-llRT "3W • 

qffiicfil 1l f�f@Q 

cfi) �fsqq i:R11{1�.s fst>RM cf,1 fi<iHI ·� · 

i) cf,lllc);Ra 'ER (bee) ii) � $R:.o u;, (fee) 

iii} anifhtf?..lcfi iv) 'iQcjfrh1°iht, 

�) rc:20:i.x H
?.
o � c.fi(("11�:s1 cfiUT q{ ancr� mm t; 

80033/98 

i) 

iii) 
� 

ciri 3 l(r) :[I �� \ 
. ' 

ii} 

iv) I 
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ll) 

�) 

i) 

i) 

iii) 

i) 3W1-l "@TI 2 "GWf-1 

iii) 

1) 

iii) 

ii) 

iv) 

ii) 

iv) 

ii) 

iv) 

ii) 

iv) 

1 

I 

aw:r-1 w:ft'-2 T{TR-1 , 

1 

l 

1. Four alternatives are given in each part of this question. Select the 

correct alternative and write it in your answer-book 

a) Struc'ture of the crystal of sodium chloride is 

i) body centred cubic (bee) 

ii) face centred cubic (fee) 

iii) orthorhombic 

iv) tetragonal. 

b) The charge on colloidal particles of Fe
2
o

3
.x H

2
0 is 

80033/98 

i) 

iii) 

Negative 

No charge 

ii) 

iv) 

Positive 

N:one of these. 

1 

l 

Previous Pathshala



2. 

2. 

3 347(CB) 

c) Molecular fonnula of sulphur at ordinary temperature is 

i) 

iii) 

ii) 

iv) 

d) Gas present in food packet of substances is 

i) H2 ii) 02 

iii) N2 
iv) . F2 

e) Unit of specific corid,uctance is 

i) -1 2 i-I ohm cm mo ii) 
-1 -2 1-1 ohm cm mo 

1 

1 

iii) , · -1 2 12 ohm cm mo iv) 
2 -1 

ohm cm mol 1 

() 

�) 

13) 

. TT) 

'Q) 

;.t) 

b) 

c) 

dJ 

Non-electrolyte is 

i) Sodium chloride 

iii) Ammonium nitrate 

. ii) 

iv) 

Urea 

Nitric acid. 1 

2 

2 

2 

i) 

ii) 

.... " ' " ... .. .. ' ,-4..,;,�:gi(;I�� ef;' �ll�?lch{Ui l:f � �{'1<t�i4ii�<1 cf.f ;;Tq 3,'t{ fl";i i<"ll@q i 1 

� �i�<•<fi<l�s qiT 1f?1 om 3� fMfuitz, 

Write the names of two lyophilic and two Jyophobic colloids. 

Stale Hardy-Schulze law. 

Stale the anti-osmosis with example. 

l 

..., 

:2 

2 
i) Stair the nnmc nnd formula f I o (: c·ct rophilc- uscct in the nilnalion of bcnz11ldchydc. 

ii) Nrnnc: ont· di�111c:c-hilriclc ;111<1 w .· 1 • · r 1 < rt:-; rnokcular fonnula. 

1 

I 
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3. 1',) 

li) 

TT) 

�) 

3. a) 

b) 

c) 

d) 

" 
atlmHiQl;if;i �frrq; nvn fw.r, Wl''I if 3Rf1 ·111,7. 1,1;\t ,11� I ?. 

!Ni ( CN ),1'- - ii Ni •a rf�;tt,r "{ffl�ll:l!_ I 1 

, 'Wm <f.ifl ch� a1f�f�1 � fi1f� :11-1:-aTPL�;y,;1 ;,1;r 'lf'.-4 f,,rfr:11� r 2 

K1 I fi'c(CN),,J ii Ji'c qa arFPflilit''I 111,/11 7111�1 �fl�.PJ ·,t,'/H �!Ft •..f;Ji ifl� I 2 

Diffcrcnlifltc between coorclinution compound und double m,Jt. 2 

�xploin hybridisation cm Ni in (Ni(CN)
.,

1--. 2 , ., � 
Write the formula of holf-Jifo period for firnl. order rcw;f.i,,n. 2 

Find oxidation number and coordination number ,,r Fe m 

2 

4. q;) � i.litfl i1ft alf'l�r _if 1 oo fiITT 'T�-JTrl, �l;-,fr '1·{111 f.f;J ·�n;-�,,, -;'t'R wf·lff­

w�o, cfiT 99% f�t.1flil 'ITT ';if@J r, 1 3lhlfw,tU i.r, 'i;tlf f �:.111:i•.r, ef.t ·rr11RJ irbfr� I 3 

...... 

4. 

rs) f;,l=iR1f@o cfl1 a1� � cttf;;w, : 

j) if wt chr,-� 

ii) Wf f.p.mjq, I 

' 1 1 I� -t b 

TT) RR-€4< ccp Jtk1tfi cR@T t I � � (f,lf,;y.r,y ,:n in ri\ <'fl'.{ij 408·6 pm 

a) 

b) 

. . 

3 

3 

In a finil order reaction the conccnlralion of a substance gets 

dissociated by 99% of the initial concentration in I 00 minutes. 

Calculate the velocity constant of the reaction. 

Explain lhe following : .  

i) Conductuncc 
ii) Cell conRlunt. 

.3 

\ . 
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c) Silver forms ccp lattice. Edge length of its unit cell is 40B·6 pm . 

Calculate the density of silver. (Atomic weight of Ag = 108} 
3 

d} 

en) 

TT) 

a} 

b) 

c) 

Calculate the osmotic pressure of 5% aqueous ur�a solution (w /v) 

at 27°C. Molecular weight of urea is 60. 

{ R .. 0·0821 litre atm K- 1 mo1-1) 
3 

4 

i) I 

ii) 1 

iii} O· l M � <lm O· l M NaCl fliM<H 1l f<6«cfil 4<ltt{OI � � 

i) NaN0
2 

+ <'fl HCI 

ii) f�r:t441i � I 

State any four properties of d-block clements. 

2 

2x2 

Phenol shows acidic character but eth l ano remains a 
neutral. Why? pproximately 

i) 

ii) 

Write I.U.P.A.C. name of CH CH 0 3 2 CH2CH CH 2 3· 

What are tetrahedral void ? s 

4 

l 

iii) Which of O· l M urea and O· l M 
1 

- NaCl Will h . pressure ? Explain With ave more osm . reason. ot.Ic 

80033/98 
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d) 

6. "€f.) 

6. a) 

k00��1/98 

6 

Write balanced chemical equation of the reaction of ethanaminc 

with the following : 

i) NaN02 + dil. HCI 

iiJ . Hinsbcrg reagent. 

i) 

ii) 

iii) 

2x2 

1+2+2 

I") 
�. ,... r ,... "' , , � , ,,... f ._A. �... , 

. � 1,::m,..4-1 � am .am -rm cf; H'I 101 ct>I 1q1 t,t cf;T ....,ff""'t.t.,,,$1=1�..,.Q I 2 

1 

2 

ii) c1S <1<%1S,S � � lffi cf>1' � fe1f@Q j 

iiiJ No_ c g J -u. o3 c g J cf>1' � &;) fe1f@co 

ii) � 3W-R 
.. ,... .. ... 

iii} � '-ii' 3q�i'I I 

Write short notes on the following : 

i) Reaction of NaN03 
and H

2
S0

4
. 

ii} Reaction of cone. HN0
3 

with 1
2

• 

iii) Reaction of nitric acid an� zinc. 

o,� 

2+3 

2+1+2 

1+2+2 
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7. 

i) 

ii) 

iii) 

7 347(CB) 

Explain the method of preparation of o7..onc gas by electric 
discharge method. 2 

Write the reaction of ozone with lead sulphide. 
Write the reaction between NO ( g) and 03 ( g ). 

l 

2 

b) Write the structural formula and I.U.P.A.C. name of D -glucose. 

cfi) 

How wilJ you prove the presence . of aldehyde group in glucose 
molecule ? 2 + 3 

• OR 

Write shc;irt notes on the following : 

i) Denaturation of protein 

ii) Zwitter ion 

iii) Uses of protein. 

2+1+2 

al�<%lttr�:s cf;T �{il'11 W . fHf&<i I cil�("il((r�:s tit (i) NH2�H2, {ii) � 

�cfiitq, � (iii) NaOH <i,1 � <f>T <ifllq�cfi fltilch<01 fHf©Q I 

2 + 1 + 1 + 1 

anTc1T 

QW2W:Sttl�:S c6T i.U.P.A.C. � WtfuiQ I � (i) NaHS03, (ii) NaOH, 

(iii} NH2NH2 cf2lT (iv) HCN � � c6T <ltW4Rcfi t14icfi<01 fHf@Q I 

. . 2+1+1+1 

-"·,tMl<l4;;i\.:i <f>T Cl 4{J41uJ, @<1Qil� � Cl 4<1-il"] cn1" wt.:tr 1l cfi1l lsf;-<41�11t''7 

<Fij i@r � ? #th)al..:.i1.:i <i,1. (i) C� cf2lT (ii) � H2S04 � t;l�c:flM1 

arercn­

f1t..tR-tf&rt tR m� fcutofl fMfuiQ 

iJ 

ii) 

iii) 

.. 

�Hi(?Vrf Jl �c��i·Hl'fl sdct<¾14rf � 

�-ftnfbr 31f� " ... 

1+ 2 + 2  

2 +I+ 2 
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... ' ' \\'\ \\,• \ht' 

\'\\\H\\\,,I\� 

t 
� \\  \h'\\I\HI 1\11 '""''' ,it \lr11c,nhh·ll\'d<· . \\1 1 l1r d1t•1111,·nl I 

\\l' thr 1,·ih'llun ,,f ht'\\Gtnldt·l\\' \k with (I) N l l,Nl lJ1 I 

. 1 1 1 1 1 1 

h) \\'I\\' ,� ,•hh.wh1t' nhH\\ ,11' ,·hh,t\\11''1\ .. •m• lr:-aH t'\',h'th'<' llu111 ,·hh,dnr 

t\h'\\\ ,,r ,·hll\\\\t•tlml\t" ,' \\'rite- ,·h<'111h·nl rq1111t ll.1n:-1 or l'\'iU'liilll� of 

\'\1h.\\\,l\('\\ff\\t' wHh {i} { 'I
J 

m\\l (ii) '"''H'. l l ;:4\\. I I J ., :.l 

Ul� 

Wt'ilt' �h,wt twt�� on UH· tbllowi11� : 

il l' 'l(•,·tt\1philk �\lh�tltuti,,n 111 hnhmt\"l\r 

\\) \\'\\, ,�-\1'\\\l� \'t'm'tlun 

Hi) .-\ppfo.·nti,,,rn of (lt'i�\\tH't\\t , ·u�,·11t. 

J .. t + J 

I 
! 

3'17(CU),2,69,00l) 
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